

II 6. Right derived functors

$F: \mathcal{A} \rightarrow \mathcal{B}$ left exact additive functor between abelian categories $\mathcal{A}, \mathcal{B}$.

Suppose $\mathcal{A}$ has enough injectives.

(i) Define right derived functors of F :

$A \in \mathcal{A} \quad A \rightarrow I^\bullet$ injective resolution.

Weght

$$0 \rightarrow F(A) \rightarrow F(I^0) \rightarrow F(I^1) \rightarrow \dots$$

Define $R^i F(A)$

$$0 \rightarrow F(I^0) \rightarrow F(I^1) \rightarrow F(I^2) \rightarrow \dots$$

Take cohomology

$$R^i F(A) := H^i(F(I^\bullet))$$

Transfer to the left-derived case:

$F^{op}: \mathcal{A}^{op} \rightarrow \mathcal{B}^{op}$ is right exact and $\mathcal{A}^{op}$ has enough projectives. Thus we have

$$L_i(F^{op}) \quad , \quad i \geq 0.$$

$$\text{Claim: } R^i F(A) \cong (L_i(F^{op}))^{op}(A).$$

(exercise.)

So we apply all the results of II.5.

Def: $A \in \mathcal{A}$ is called F -acyclic if

$$R^i F(A) = 0 \quad \forall i \geq 1.$$

Def 9.2: (Ext functors)

$A \in \mathcal{B}$ -mod

$$\text{Hom}(A, -) : \mathcal{B}\text{-mod} \rightarrow \mathcal{A}\text{-Ab}$$

is left exact.

$$\text{Def 9.3: } \text{Ext}_R^i(A, B) := R^i \text{Hom}_R(A, -)(B).$$

Prop. 93. Let $R \in R\text{-mod}$. Take:

- 1° B is injective
- 2° $\text{Ext}_R^1(A, B) = 0 \quad \forall A \in R\text{-mod}$
- 3° $\text{Ext}_R^i(A, B) = 0 \quad \forall A \in R\text{-mod} \quad \forall i \geq 1$

Proof: $3^\circ \Rightarrow 2^\circ \quad \checkmark$

$1^\circ \Rightarrow 3^\circ$ Hom $_R(-, B)$ is exact
 $\Rightarrow 3^\circ$

$2^\circ \Rightarrow 1^\circ$: Take a short exact sequence

$$0 \rightarrow A_1 \rightarrow A_2 \rightarrow A_3 \rightarrow 0$$

$$\Rightarrow 0 \rightarrow \text{Hom}_R(A_3, B) \rightarrow \text{Hom}_R(A_2, B) \rightarrow \text{Hom}_R(A_1, B)$$

$$\hookrightarrow \text{Ext}_R^1(A_3, B)$$

is exact

So B is injective. $\square$

Prop 94: Let $A \in R\text{-mod}$. Take

- 1° A is projective
- 2° $\text{Ext}_R^1(A, B) = 0 \quad \forall B \in R\text{-mod}$
- 3° $\text{Ext}_R^i(A, B) = 0 \quad \forall i \geq 1 \quad \forall B \in R\text{-mod}$.

(exercise)

Example 95: $\text{Ext}_Z^1(\mathbb{Q}/\mathbb{Z}, \mathbb{Z})$.

$$\text{Take } 0 \rightarrow \mathbb{Z} \rightarrow \mathbb{Q} \rightarrow \mathbb{Q}/\mathbb{Z} \rightarrow 0,$$

a short exact seq. we..

$$0 \rightarrow \text{Hom}_Z(\mathbb{Q}/\mathbb{Z}, \mathbb{Z}) \xrightarrow{\cong} \text{Hom}_Z(\mathbb{Q}, \mathbb{Z}) \xrightarrow{\cong} \text{Hom}_Z(\mathbb{Z}, \mathbb{Z})$$

$$\hookrightarrow \text{Ext}_Z^1(\mathbb{Q}/\mathbb{Z}, \mathbb{Z}) \rightarrow \text{Ext}_Z^1(\mathbb{Q}, \mathbb{Z}) \rightarrow \text{Ext}_Z^1(\mathbb{Z}, \mathbb{Z})$$

$$\hookrightarrow \text{Ext}_Z^2(\mathbb{Q}/\mathbb{Z}, \mathbb{Z}) \rightarrow \text{Ext}_Z^2(\mathbb{Q}, \mathbb{Z}) \rightarrow \text{Ext}_Z^2(\mathbb{Z}, \mathbb{Z})$$

long exact sequence.

—136—

$$\Rightarrow \text{Set}_Z^i(\mathbb{Q}_Z, \mathbb{Z}) \simeq \begin{cases} \text{Hom}_Z(\mathbb{Q}_Z/\mathbb{Z}, \mathbb{Z}) & i=1 \\ 0 & i \neq 1 \end{cases}$$

($i \geq 0$)

$$\text{Hom}_Z(\mathbb{Q}_Z, \mathbb{Q}_Z) \simeq \hat{\mathbb{Z}} := \varprojlim_{n \in \mathbb{N}} \mathbb{Z}/n\mathbb{Z}$$

$$\text{Hom}\left(\frac{\mathbb{Z}}{n\mathbb{Z}}, \frac{\mathbb{Z}}{n\mathbb{Z}}\right) \simeq \frac{\mathbb{Z}}{n\mathbb{Z}}$$

Def 96: (R' is for a contravariant functor)

Let $G: A \rightarrow \mathcal{B}$ be contravariant and left exact.

(i.e. $G: A^{\text{op}} \rightarrow \mathcal{B}$ is covariant and left exact.)

For $A \in A$ take a projective resolution $P_\bullet \rightarrow A$

—137—

we get $0 \rightarrow G(A) \rightarrow G(P_0) \rightarrow G(P_1) \rightarrow \dots$

and $0 \rightarrow G(P_0) \rightarrow G(P_1) \rightarrow \dots$
 $R^i G(A) := H^i(G(P_\bullet))$

is the right derived functor of G .

Example 97: (a) $B \in R\text{-mod}$.

$$\text{Hom}_R(-, B): R\text{-mod} \rightarrow \text{Ab}$$

is left exact and contravariant.

Example 98: $R = \mathbb{Z}$, and $n \mid B = \mathbb{Z}$.

$$R^i \text{Hom}_{\mathbb{Z}}(-, B) (\mathbb{Q}_{\mathbb{Z}}) = ?$$

Take a projective resolution of $\mathbb{Q}_{\mathbb{Z}}$

$$\begin{aligned} 0 \rightarrow \text{Ker}(\pi) \rightarrow \bigoplus_{i=1}^{\infty} \mathbb{Z} \xrightarrow{\pi} \mathbb{Q}_{\mathbb{Z}} \rightarrow 0 \\ \text{Cen}(\mathbb{Z}) \rightarrow [\mathbb{Z}^{\mathbb{Q}_{\mathbb{Z}}}]_{\mathbb{Z}} \end{aligned}$$

We obtain after applying $\text{Hom}(-, \mathbb{Z})$:

$$0 \rightarrow \text{Hom}(\mathbb{Z}, \mathbb{Z}) \rightarrow \text{Hom}(\mathbb{Z}, \mathbb{Z}) \rightarrow \text{Hom}(\mathbb{Z}, \mathbb{Z}) \rightarrow 0.$$

Remark $\text{Hom}(\mathbb{Z}, \mathbb{Z}) \cong \mathbb{Z}$.

$$0 \rightarrow \text{Hom}(\mathbb{Z}, \mathbb{Z}) \xrightarrow{f} \text{Hom}(\mathbb{Z}, \mathbb{Z}) \rightarrow 0$$

$$\begin{array}{ccc} \text{Hom}(\mathbb{Z}, \mathbb{Z}) & \xrightarrow{f} & \text{Hom}(\mathbb{Z}, \mathbb{Z}) \\ \parallel & & \parallel \\ \mathbb{Z} & \xrightarrow{f} & \mathbb{Z} \end{array}$$

f is injective $\Rightarrow \mathbb{Z} \cong \mathbb{Z}$.

$$\text{Hom}(\mathbb{Z}, \mathbb{Z}) \cong \mathbb{Z}$$

What is $\text{Hom}(-, \mathbb{Z})$?

$$\text{Hom}(\mathbb{Z}, \mathbb{Z}) \cong \mathbb{Z}.$$

$$\text{Hom}(\mathbb{Z}, \mathbb{Z}) \xrightarrow{f} \mathbb{Z}$$

$$\mathbb{Z} \xrightarrow{f} \mathbb{Z} \cong \mathbb{Z}.$$

f is left exact.

$$H^1(X, \mathbb{Z}) := R^1 \Gamma(X, \mathbb{Z})$$

is called the first cohomology of X .

Proof: Step 1: We reduce to $C_{\text{col}(a_1)}$.

- Interchanging rows and columns, we obtain

$$(a_1) \Leftrightarrow (a_2) \text{ and } (b_1) \Leftrightarrow (b_2)$$

- Reflection on $p-q=0$

Suppose we are in $C_{\text{col}(a_2)}$.

We truncate C : each column at level n .

$$(T_n C)_{pq} = \begin{cases} C_{p,q}, & q > n \\ \text{for } (d_{p,n}^u : C_{p,n} \rightarrow C_{p,n+1}), q = n \\ 0, & q < n \end{cases}$$

$$\begin{bmatrix} 0 & 1 & q < n \end{bmatrix}$$

$E_n C$ satisfies (a_1) and

$$\text{Tot}^\oplus(E_n C) = \text{Tot}^\pi(E_n C).$$

$$\begin{array}{c} \bigcirc \\ \bigcirc \end{array} \bigg| \begin{array}{c} E_n C \\ \hline \end{array}$$

If (a_1) is proven then

$$\text{Tot}^\oplus(E_n C) = \text{Tot}^\pi(E_n C) \text{ is acyclic.}$$

Plus $\text{Tot}^\oplus(C)$ is acyclic.

Step 2: Proof of (a_1) :

We only prove the exactness of $\text{Tot}^\pi(C)$ at 0.

Take a 0-cycle of $\text{Tot}^\pi(C)$:

$$c \in C_{p,q}, p+q=0.$$

$$W.L.O.G. \quad C_{p,q} = 0 \quad \forall \quad q < 0.$$

$e_{0,1}$ exists by exactness.

$e_{-1,2}$ mapping

for $C_{-1,1} = d_{-1,1}^u(e_{0,1})$

exists by exactness of the -1^{th} column.

etc.

□

$$\begin{array}{c} \begin{array}{c} \leftarrow -1 e_{-2,3} \\ \downarrow \\ \leftarrow -1 e_{-1,2} \\ \downarrow \\ \leftarrow -1 e_{0,1} \\ \downarrow \\ \leftarrow e_{0,0} \end{array} \end{array}$$

